SplashLearn

Estimate the Quotient

Choose the best estimate for the given division sentences.

@ 42 =7 is 6. What is the best estimate for 4,199 + 70?

o 600 060 o6 0 6,000

()

81 + 9is 9. What is the best estimate for 81,021 + 9,000?

0 9,00 o9 090 o 90,000

®

39+ 13is 3. What is the best estimate for 389 + 30?

o 13,000 o013 o 700 o7

35+ 7is 5. What is the best estimate for 350,009 + 500?

o 500 o 50 o 700 o 70

98 = 2is 49. What is the best estimate for 97,999 = 49,000?

0 490,000 049,000 o2 o 2,000




